

$$\forall x \in E; \mu^*(A \cup B \cap x) + \mu^*(A \cup B)^c \cap x = \mu^*(A \cap x) + \mu^*(A^c \cap B \cap x) + \mu^*(A \cap B^c \cap x)$$

$$= \mu^*(A \cap x) + \mu^*(B \cap (A^c \cap x)) + \mu^*(B^c \cap (A \cap x))$$

$$= \mu^*(A \cap x) + \mu^*(A^c \cap x) = \mu^*(x).$$

0.5

$A \cup B \in \mathcal{D}$  وعليه

لنكن  $\{E_n\}_m$  متتالية من  $\mathcal{D}$ . نريد متتالية  $\{A_n\}_m$  من عناصر  $\mathcal{P}$  منفصلة

$$\bigcup_{n \geq 1} A_n = \bigcup_{n \geq 1} E_n \quad \text{و} \quad \forall m \in \mathbb{N}^*: \bigcup_{i=1}^m A_i = \bigcup_{i=1}^m E_i$$

منشئ مثلث زيفوت

بإدراك  $A$  و  $B$  منفصلتان في  $\mathcal{D}$  فإننا نحسب (\*) - لدينا

$$\forall x \in E; \mu^*(A \cup B \cap x) = \mu^*(A \cap x) + \mu^*(B \cap x)$$

$$\forall x \in E; \mu^*(\bigcup_{n \geq 1} A_n \cap x) = \sum_{n \geq 1} \mu^*(A_n \cap x) \dots (**)$$

$$\forall m \in \mathbb{N}^*, \forall x \in X: \mu^*(x) = \mu^*(\bigcup_{i=1}^m A_i \cap x) + \mu^*(\bigcup_{i=1}^m A_i)^c \cap x$$

$$= \sum_{i=1}^m \mu^*(A_i \cap x) + \mu^*(\bigcup_{i=1}^m A_i)^c \cap x$$

$$\geq \sum_{i=1}^m \mu^*(A_i \cap x) + \mu^*(\bigcup_{i=1}^m A_i)^c \cap x$$

$$\forall x \in E; \mu^*(x) \geq \sum_{n \geq 1} \mu^*(A_n \cap x) + \mu^*(\bigcup_{n \geq 1} A_n)^c \cap x$$

ومن هنا

$$\stackrel{(**)}{=} \mu^*(\bigcup_{n \geq 1} A_n \cap x) + \mu^*(\bigcup_{n \geq 1} A_n)^c \cap x = \mu^*(\bigcup_{n \geq 1} E_n \cap x)$$

$$= \mu^*(x).$$

$$\forall x \in E; \mu^*(x) = \mu^*(\bigcup_{n \geq 1} E_n \cap x) + \mu^*(\bigcup_{n \geq 1} E_n)^c \cap x$$

ومن هنا

2

وعليه  $(\bigcup_{n \geq 1} E_n) \in \mathcal{D}$

2. الموقف الموحى (10 pts)

لنكن  $\{E_n\}_m$  متتالية من  $\mathcal{D}$  عناصر  $\mathcal{P}$  منفصلة منشئ مثلث زيفوت  
بإدراك  $\mathcal{D}$  عشيرة فئات  $(\bigcup_{n \geq 1} E_n) \in \mathcal{D}$  ومن هنا

0.4